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L. Solve the system by substitution. Show your work.

2-y=10 — 210 =Y

3x+2y=1 ]-8 :g

3)( L2 ("9}5' |7 -
3y =16 = | ( 4 )
+le tle

=1 \x- B
3%

2. Solve the system by elimination. Show your work.
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3. Find the points of intersection of the graphs of y =3x and y = x* — 6x by substitution.
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4. Solve the system of equations by algebraic methods.
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1. You are selling frozen yogurt and you make $565 and use 250 cones. A single-scoop cone costs
$2 and a double-scoop cone costs $2.50. How many of each type of cone did you sell?

Please define your variables and write the system of equations you set up to solve.
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2. Solve the system graphically using the intersect feature of your calculator.

y=%x3+5x—1.5
y=-05x%+3

3. Solve the system of equations by using matrix operations.
2x—y+z+w=-3
x+2y—3z+w=12
Ix—y—z+2w=3
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Find the partial fraction decomposition of m]following 3 rational functions.
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